GENERAL

|. THESE DRAWINGS ARE INTENDED TO BE USED IN CONJUNCTION
WITH THE ARCHITECTURAL DRAWINGS. SEE THOSE DRAWINGS FOR
EXACT DIMENSIONAL INFORMATION.

2. DETAILS WHICH DEPICT A SPECIFIC SITUATION SHALL BE
INTERPRETED AS BEING TYPICAL FOR SIMILAR SITUATIONS.

3. ALL DIMENSIONS SHOWN ON THESE PLANS ARE FOR GUIDELINE
ONLY. LIGHT GAGE FRAMING SHALL BE CUT TO FIT FIELD
CONDITIONS AS NECESSARY.

4. LIGHT GAGE CONTRACTOR SHALL VERIFY ALL DIMENSIONS AND
CONDITIONS ON SITE BEFORE FABRICATION AND CONSTRUCTION.

5. ALL STUDS MUST BE LATERALLY BRACED ON BOTH SIDES BY
WALL SHEATHING. WHERE WALL SHEATHING IS NOT PROVIDED,
STUDS SHALL BE BRACED USING FLAT STRAPS SPACED AT 4'-0" ON
CENTER MAXIMUM.

DESIGN LOADS
NOTE: WIND DESIGN LOADS ARE PER IBC 2003

BASIC WIND SPEED (00 MPH
IMPORTANCE FACTOR 1.0
EXPOSURE CATEGORY C
DEFLECTION CRITERIA
AT MASONRY/PRECAST VENEER L/600
AT ALL OTHER LOCATIONS L/240

S _ JAMB, SIZE AND

HEADER, SIZE AND
GAGE AS REQUIRED

/1 DOOR/WINDOW HEADER DETAIL
LGO / NOT TO SCALE

TYPICAL WALL STUDS

BEAM ABOVE WITH (2) ROWS OF
0.145" DIAMETER PAFS AT 12"
0.C. (SPACE ROWS MIN. 3") -

FASTEN STUDS TO TRACK WITH

(2) #10 SCREWS

FASTEN TRACK TO EACH
STUD WITH (2) #8 SCREWS

(2) #8 SCREWS AT lo"

O.C. TRACK TO STUD
#8 SCREWS AT le" O.C.

BRACE SHOWN BEYOND

2x WOOD FRAMING BENEATH
HEADER - RIP TO THICKNESS AS
REQUIRED - FASTEN WOOD
FRAMING TO LIGHT GAGE WITH
3/16" DIAMETER WOOD-TO-METAL
SCREWS AT 12" 0.C. STAGGERED

EACH FLANGE

HEADER H-A
(1) 1-5/8"x6" 18-GAGE STUD
(6005162-43) W/(2) 1-1/4"x6"
18-GAGE TRACKS (600TI25-43)
- ASSEMBLE AS SHOWN

FASTEN TRACK TO EACH
STUD WITH (2) #8 SCREWS

(2) #8& SCREWS AT 16"
0.C. TRACK TO STUD

HEADER H-B

(1) 1-5/8"%6" 18-GAGE STUD
(6005162-43) W/(1) 2"x6"
14-GAGE DEFLECTION TRACK
(600T200-68) AND (1) 1-1/4"x6"
I8B-GAGE TRACK (600TI125-43)
- ASSEMBLE AS SHOWN

/5 HEADER ASSEMBLY "H-A"

LGO

Scale: 1-1/2" =

|'=O"

GAGE AS REQUIRED

™S~ CUT TRACK FLANGES AND
BEND 4" SECTION OVER
JAMB - FASTEN WITH (2)
#8 SCREWS EACH LEG

LIGHT GAGE STEEL FRAMING

. ALL STUDS AND/OR JOISTS AND ACCESSORIES SHALL BE THE TYPE,
SIZE, GAGE, AND SPACING AS SHOWN ON THE DRAWINGS. REFER TO
'STEEL STUD MANUFACTURER'S ASSOCIATION' FOR PROPERTIES AND
SPECIFICATIONS OF LIGHT GAGE MEMBERS. LIGHT GAGE SHALL BE
SUPPLIED BY A MANUFACTURER THAT IS A MEMBER OF THE STEEL STUD
MANUFACTURER'S ASSOCIATION OR APPROVED EQUAL.

2. ALL STRUCTURAL MEMBERS SHALL BE DESIGNED IN ACCORDANCE WITH
THE AMERICAN IRON AND STEEL INSTITUTE (AISI) "SPECIFICATION FOR
THE DESIGN OF COLD FORMED STEEL STRUCTURAL MEMBERS", 200l
EDITION INCLUDING 2004 SUPPLEMENT.

3. ALL STEEL USED SHALL CONFORM TO ASTM A446 WITH THE FOLLOWING
MINIMUMS:

33 KSI FOR 18 AND 20 GAGE

50 KSI FOR 12, 14, AND le GAGE

Fy
Fy

4. ALL STRUCTURAL MEMBERS SHALL BE ZINC COATED MEETING ASTM
G-60 OR EQUIVALENT.

5. REFER TO SSMA PUBLICATION "PRODUCT TECHNICAL INFORMATION, ICBO
ER-4943P" FOR ADDITIONAL TECHNICAL INFORMATION, AND ERECTION AND
BRACING PROCEDURES.

6. POWDER ACTUATED FASTENERS (PAFS) SHALL BE INSTALLED WITH A
MINIMUM 2-3/4" DISTANCE TO THE EDGE OF CONCRETE.

7. ALL STUDS 6" AND LESS CAN BE BRACED WITH 5400-SPAZZER BARS
PER MANUFACTURER'S RECOMMENDATIONS. ALL LARGER STUDS SHALL BE
BRACED WITH 18-GAGE TRACK AND FLAT STRAPS PER DETAILS.

8. FIREPROOFING SHALL BE DONE PRIOR TO LIGHT GAGE INSTALLATION
UNLESS APPROVED OTHERWISE BY THE BUILDING DEPARTMENT.

JAMB, SIZE AND
GAGE AS
REQUIRED

A

N

N

SCREWS AS
REQUIRED

)\ A\

SILL, SIZE AND
GAGE AS
REQUIRED

/2 WINDOW SILL DETAIL

\LGO/ NOT TO SCALE

PROVIDE TRACK TO SIDES

(1) 1-1/4"%6" 18-GAGE TRACK :
(600TI25-43) FASTENED TO T =

ANGLE HANGER AND ——|

TYPICAL WALL STUDS — 1

Il OF HANGER ANGLES BEAM ABOVE
N I
I o
It il
[ il
I il
A
I\
AR
,r;/ } //0,;/ E
T\*j‘——-— < FASTEN TRACK TO L4x4 g

7 HANGER WITH L2x2xI8GAGE
4 CLIP ANGLE x 5-1/2"L -
PROVIDE (3) 0.145" DIA.

PAFS TO L4x4 AND (3) #I0
SCREWS TO| TRACK

K TRACK

T
H H \

| — o

SECTION

/
A

L_sTUD NESTED IN
FRAMING AT WINDOW

ELEVATION

LIGHT GAGE CONTRACTOR PLEASE NOTE: ALL LIGHT GAGE MEMBERS
SHALL BE SINGLE PIECES (CONTINUOUS) FOR THE FULL LENGTH OF
ALL HEADERS, SILLS, AND JAMBS - DO NOT SPLICE MEMBERS FOR
HEADERS, SILLS, OR JAMBS - TRACK MEMBERS ARE INCLUDED IN
THE DESIGN OF THE MEMBERS AND MUST BE PROVIDED AS SHOWN
ON THESE DETAILS - DO NOT MODIFY ASSEMBLIES

V=~
e F
|
|
|

4

|
|
|
|
|

S~ TYPICAL WALL STUDS

[

\/\

SILL ASSEMBLY "S-A'

TYPICAL WOOD FRAMING

- SEE 5/LGO - SEE 5/LGO

(1) 1-1/4"%6" 20-GAGE TRACK (6005162-43) WITH (2)

(600T125-43) - FASTEN TO
EACH STUD WITH #8 SCREWS
AT TRACK FLANGES TO EACH
STUD FLANGE

(600T125-43)
#8 SCREWS AT 16" O.C.

TO STUDS

r

|

1>~ (2) #8 SCREWS AT 16"
- 0.C. STUD TO TRACK

|

F— Y

YA TYPICAL WALL STUDS

/ 12\ SILL ASSEMBLY "S-B'

@ Scale: |-1/2" =

I'-0" LGO/ Scale: |-1/2" = |'-0"

TYPICAL WOOD FRAMING

I-174"x6" 18-GAGE TRACKS

EACH FLANGE OF TRACKS

WINDOW

/6 HEADER ASSEMBLY "H-B"

@ Scale: [-1/2"

L2x2xI8GAGE CLIP ANGLE x

(1) 1-5/8"x6" 18-GAGE STUD

= II_oIl

(1) 1-1/4"%6" 20-GAGE TRACK
(600TI25-43) - FASTEN TO
EACH STUD WITH #8 SCREWS

™\ CUT TRACK FLANGES AND
BEND 4" SECTION OVER
JAMB - FASTEN WITH (2)
#8 SCREWS EACH LEG

BOTTOM FLANGE OF

DEFLECTION TRACK
WOOD FRAMING AT

ANGLE, 4" LONG - FASTEN TO

STEEL STUD MANUFACTURER'S ASSOCIATION LIGHT GAGE STEEL COMPONENTS EQUIVALENT COMPONENT NOTATIONS LIGHT GAGE STEEL MATERIAL THICKNESS
6005162-43 18-GAGE STUD, 6" DEEP, |-5/8" FLANGE, 1/2" LIP RETURN AN A CTURERs | DIETRICH MARINO\WARE 20-GAGE  0.0346" Hé g
B} (@]
6005162-33 20-GAGE STUD, &' DEEP, |-5/8" FLANGE, 1/2" LIP RETURN ASSOCIATION I8-GAGE  0.045!" e8 @
6005162-43 6CSJI8 6SNWIB Hoe © |
8005162-43 18-GAGE STUD, 8" DEEP, 1-5/8" FLANGE, 1/2" LIP RETURN 16-GAGE  0.0566" e
6005162-33 6C5J20 6SIN20 gz | =
8005200-43 18-GAGE STUD, 8' DEEP, 2' FLANGE, 5/8" LIP RETURN 500510043 Py, oD 14-GAGE ~ 0.0713" Eom
S -+ o —
| 8005200-43 BCSWIB aJig I2-GAGE  0.1017" EERES
600TI25-43 18-GAGE TRACK, 6" DEEP, I-1/4" FLANGE - EAg
m N
600TI25-33 20-GAGE TRACK, 6" DEEP, I-1/4" FLANGE 093 .
600TI25-43 6TSBIS 6TIB S 5= ¥
800TI25-43 20-GAGE TRACK, 8" DEEP, I-1/4" FLANGE ©
600TI25-33 6TSB20 6T20 A
NOTE: STEEL SHALL BE 50 KSI FOR
800T200-43 18-GAGE TRACK, &' DEEP, 2" FLANGE 800TI125-43 8TSBIS eTI® ALL DEFLECTION TRACKS (ALL )
800T200-43 eTSCI® eDTI8 RA LA H"”" I o
600T20-68 14-GAGE DEFLECTION TRACK, 6" DEEP, 2" FLAN TRACKS WITH 2 INCH FLANGES) - S
- 14- / / GE 33 KS| 1S NOT SUFFICIENT g
800T20-68 14-GAGE DEFLECTION TRACK, &' DEEP, 2" FLANGE 600T200-68 6TSCl4 6DTl4 ‘ "Il n
800T200-68 8TSCl4 8DTI4 | ' I 'B
©
1 O
@)
i}y @
)]
WALL STUDS \ <
* S
Q £
D JAMB, SIZE AND = v =
: GAGE AS REQUIRED =% S. iy =
= 7§ NAWROCKI k=
2 .% :Io. 6044 ..'_: . S
PROVIDE ADDITIONAL ANCHORAGE 7 SSionaL O
AT JAMBS USING A 2x2xI6 GA /////,,&\\ U

JAMB W/(2) #8 SCREWS -
FASTEN TO CONCRETE W/(2)
HILTI X-DNI 0.145" DIA. PAFS

TYPICAL TRACK,
SIZE AND GAGE AS
REQUIRED

/3 JAMB BASE DETAIL

\LG0/J NOT To SCALE

(2) 1-5/8"x6" 18B-GAGE STUDS

(6005162-43) W/(3) 1-1/4"x6"

NOTE: PROVIDE (1) DIETRICH FTC5 FAS
1B-GAGE TRACKS (600T125-43) T (1) FAST

TOP CLIP AT THE TOP OF EACH J-A JAM
- SEE 7/LG3 AND 8&/LG3

FASTEN TRACK TO EACH
STUD ABOVE WITH (2) #8
SCREWS

#® SCREWS AT le" O.C.
EACH FLANGE OF TRACK

\

TYPICAL WOOD FRAMING
- SEE 5/LGO

#8& SCREWS AT 16" O.C.
EACH FLANGE

#8 SCREWS AT le" O.C.
EACH FLANGE OF TRACK

TYPICAL WOOD FRAMING
- SEE 5/LGO

/5 JAMB "J-A" DETAIL

\LG9/ Scale: I-1/2" = 1'-0"

/7 HEADER ASSEMBLY "H-C'

\LGO/ Scale: I-1/2" = 1I'-0"

AT TRACK FLANGES TO EACH
STUD FLANGE

NOTE: FIRE-PROOFING MUST BE
INSTALLED AT COLUMNS PRIOR
TO THE ATTACHMENT OF STUDS
- SEE ARCHITECTURAL DRAWINGS

NOTE: AT P.A.F.5 PROVIDE MINIMUM EDGE
DISTANCE AND SPACING PER HILTI:
CONCRETE - HILTI X-DNI 0.145"D

STEEL - HILTI X-EDNI 0.145"D

FASTEN EACH STUD TO
FOUNDATION WITH !

)\

" Vo, N JAMB ASSEMBLY OF (1)
> TRACK. TO EACH FLANGE i I-5/8"x6" 18-GAGE STUD
agagii (6005162-43) W/(1) I-1/4"6"

18-GAGE TRACK (600TI25-43)

T T
| |
6'"L - PROVIDE (4) #I0 | | STEEL COLUMN Jl |
SCREWS TO STUD AND (3) | | IN WALL :
174" MASONRY SCREWS TO | | TYPICAL 1-5/8"x6" STEEL 1l
MIN. 1-1/2" EMBEDMENT i I STUDS (6005162) L4 5" 9 (A2T) lzfué CE;CCREWS
E i AT 24" O.C. L STUD TO STUD
| | — | >
K |
=Hn | :
Ay | |
FOUNDATION WALL | ) | 23" 23" ;(\\‘z'
| - <
\ 2 | 7 ' FOUNDATION Y =
R | | / | °
\3’«@‘/\\3\&/\ | | o il _ T T
RAVRL | | 1-5/8"x6" STUD (600T162) - 7
R | | FASTEN TO COLUMN WITH z ““““‘—f DOUBLE STUD ASSEMBLY OF
TTPICAL ﬁﬁggEéngz“ 0.145' DIAMETER HILTI X—DNI (2) 1-5/8"x6" STUDS (6005162)
.C. = | " _
MAINTAIN CLEARANCES 7 z#z\ZGAéEEQS' O.C. VERTICALLY ' 2163540}2?6 GA%'EUDS ARE 18
' V
12\ SILL ASSEMBLY "S-C' / 14\ STUD AT COLUMN / 15\ FASTENER CLEARANCES 16 STUD FASTENING
@ Scale: 1-1/2" = 1'-0" W Scale: 1-1/2" = I'-0" LGO/ Scale: I-1/2" = 1'-0" LGO/ Scale: 1-1/2" = 1'-0"

(1) #8 SCREW

AT ENDS OF WALL AND

2" 18-GAGE CONTINUOUS STRAPS
AT MAXIMUM 12" FROM TOP

FASTEN AT EACH STUD WITH

- FASTEN AT EACH

BLOCK WITH (3) #& SCREWS

(2) 1-1/4"%6" 20 GAGE SOLID BLOCKS (600TI25-33)

HORIZONTALLY SPACED

8'-0" 0.C. MAXIMUM - CUT BLOCKING FLANGES AND
N BEND TO FORM A 4" LAP ONTO STUD - FASTEN TO

STUD WITH (2) #I0 SCREWS EACH SIDE

4\ TYPICAL TOP OF WALL BRACING

\LG0/ NOT TO SCALE

NOTE: PROVIDE (2) DIETRICH FTC5 FAST
TOP CLIP AT THE TOP OF EACH J-B JAMB
- SEE 7/LG3 AND 8/LG3

TYPICAL WOOD FRAMING
- SEE 5/LGO

#® SCREWS AT 6" O.C.
EACH FLANGE OF TRACKS
TO STUDS

JAMB ASSEMBLY OF (2)
I-5/8"x6" 18-GAGE STUDS
(6005162-43) W/(2) 1-1/4"x6"
18-GAGE TRACK (600TI25-43)

(2) #8 SCREWS AT 16"
0.C. TRACK TO TRACK

/) JAMB "J-B" DETAIL

NOTE: PROVIDE (2) DIETRICH FTC5 FAST
TOP CLIP AT THE TOP OF EACH J-C JAMB
- SEE 7/LG3 AND 8/LG3

TYPICAL WOOD FRAMING
- SEE 5/LGO

#8& SCREWS AT l6" O.C.
EACH FLANGE OF TRACKS
TO STUDS

JAMB ASSEMBLY OF (3)
1-5/8"x6" 18-GAGE STUDS
(6005162-43) W/(3) 1-1/4"%6"
I8-GAGE TRACKS (600TI25-43)

(2) #8 SCREWS AT 16"
0.C. STUD TO STUD OR
TRACK TO TRACK

710\ JAMB "J-C" DETAIL

\LG0/ scale: I-1/2" = 1'-0" \LGO/ Scale: I-1/2" = 1'-0"
2
NORTH BACK
| 2
G3 G3
WEST EAST WEST
VALET VALET
|
] |
L AN
ey
§ P
J ?:::;;:3 | \C:}; L
\ SOUTH FRONT
1T
\LGl/ MIRRORLGS/

17\ KEY PLAN

\LGO/ Scale: NOT TO SCALE

BY

REVISION SCHEDULE
REVISION DESCRIPTION

L
3
Z o
o -
— - O
= e
<] oz
B
| &
w v 23
- IR
-
<
U B~
W | .
W
S| =
[.4 o
&
o
o) <o
2 “ 2
O ::
n| =%
o ©
Z| o=
O ‘_‘D-
U U —‘

LIGHT GAGE
GENERAL NOTES
AND DETAILS

PORTLAND, MAINE

Hotel, Restaurant,
Portside Residences

PROJECT:

06—-25-10

AS NOTED

DRAWN BY: MJA

LGO

SHEET:

JSN PROJECT NO 091012.1

s
PAREES]

T

COPYRIG

o)
©



